AL (RBEAEDLE)EEREHME
"4 BTG EE T T &
BRIk St E— s g AKL
T QMR HLSRIE 5 B IRIEMIT A5 1675:MD50D2
P JB) Ty s 255 T H47—1
ROOWFS 14— A 2R
14 ool HEMESER %) 23,588,400 1 OBHEEBLE O G THEBLOKE 2,144,400 [1)
e — RS 0 — kb4 1.54 [ ObLIEERL OHFEEROE  0.14 1)
LA S6HE6H 1 H Mo SF4E5H31H  F£T 2185y
ELKHH R SRR
AKL (RFH) H I ST6EAH22H Rl 10 B BRI AILE F =T E1
A L BB ) & B
HED
*E4 o5 1[A] 5 2[A] SR
L — 2k et 33,999,984 TERL
2|1k RS I B ) 1 32k ELliZey)
IR RS AE AL S 36,572,412
4 LLTF4H
5
6
7
8
9
10
11
12
13
14
15
—HREN D
bt =K

L7-#i




